PIRANHA OFFROAD PRODUCTS P/N BTPRAD03

‘Piranha Off Road products are not associated in any way with Toyota Australia or any of its related companies’

PARTS INCLUDED WITH TRAY

1 X Tray

1 X Tray Support Bracket
1 X Support plate

6X M6 Nut

3 X M6 Bolt

1 X Special top Mount

5 X M6 Bolt Countersunk
1 X Washer

1 X M6 Long Bolt

2 XJ Bolt

I RECOMMENDED ISOLATOR

DBE140SF |
or
DBE180-SX

To Suit PRADO 120 SERIES
3.0L TDI NOT SUTBLE
f&‘; FORSELF AT

300mm L

MAX BATT WEIGH

FITTING INSTRUCTIONS

The cradle fits drivers side front.

Unclip wiring loom and bolt in supplied right angle bracket using 1xM6 bolt
and nut (Pic 1).

Unbolt junction of earth wires from inner guard, discard bolt.

Fit the tray in position and using three (3) counter sunk M6 bolts, using
long M6 bolt and washer replace earth strap junction together with Battery
Tray arm to inner guard.

Drill 2xM6 holes through the mount on tray and through the wheel arch.
Using 2xM6 nuts and bolts, bolt through the tray mount, the wheel arch
and the support plate on the under side of the wheel arch (Pic 2+3).

Place battery in position install supplied top mount, drill through the “4”
stamped into the metal of the radiator support, DO NOT follow through
drilling or you WILL damage the headlight. Secure top mount with M6 bolt
(Pic 4)

Ensure, before closing the bonnet that all items fitted
have adequate clearance Oct 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BTPRADO3



